1.
Which of the following is not the role of a first-line manager?
A.
Develop operational plans
B.
Maximize the profit of the company
C.
Resolve conflicts between employees
D.
Supervise subordinate staff in daily operations
2.
Excellent Cinema purchased equipments from World Production on credit at a 5% trade discount for the opening of a new cinema in Mong Kok. After half a month, Excellent Cinema settled the account by check. In which of the following books of original entry should Excellent Cinema record the above transactions? 

(1)
Cash book

(2)
General journal

(3)
Purchase ledger

(4)
Sales ledger
A.
(1) and (2) only

B.
(1) and (3) only

C.
(1), (2) and (3) only

D.
(1), (2) and (4) only



3.
Under which situations will the total of the credit side greater than the total of the debit side in a trial balance? 

A.
When there are errors in accounts


B.
When the company has made a profit
C.
When the company has suffered from loss
D.
When the total liabilities of the company is greater than the total assets
4.
Which of the following are SMEs' contributions to the Hong Kong economy?

(1)
Providing specialized goods and services

(2)
Providing employment opportunities

(3)
Producing innovative products

(4)
Supporting large companies
A.
(1) and (2) only

B.
(1) and (3) only

C.
(1), (2) and (3) only

D.
(1), (2), (3) and (4)

5.
Which of the following is(are) not required to joint Mandatory Provident Fund Scheme (MPF) in Hong Kong?

(1)
Domestic helpers




(2)
Employees aged 62

(3)
Employees with monthly income of $6,000


(4)
Employees who have been employed for 90 days
A.
(1) only

B.
(1) and (3) only

C.
(1) and (4) only

D.
(1), (2), (3) and (4)
6.
If the number of managers in two companies is the same, one with more layers of management levels has _________ communication and the span of control is __________ in general. We call it has a ____________. 
A.
more efficient;
lower;
flat orgznization


B.
less efficient;
higher;
flat orgznization
C.
less efficient;
lower;
tall orgznization
D.
more efficient;
higher;
tall orgznization
7.
Which of the following is an effective communication process?
A.
Sender encodes the message → sender chooses the communication channel → receiver encodes the message
B.
Sender encodes the message → receiver decodes the message → receiver gives feedback to sender
C.
Sender gives feedback to receiver → sender encodes the message → receiver decodes the message
D.
Sender encodes the message → sender gives feedback to receiver → receiver decodes the message
8.
Many SMEs fail because 


(1)
they have greater flexibility

(2)
they lack management skills

(3)
they act as subcontractors of large companies


(4)
they cannot get a loan from bank because of the lack of collateral
A.
(1) and (4) only

B.
(2) and (4) only

C.
(2), (3) and (4) only

D.
(1), (2), (3) and (4)
9.
Jessica has won Mark Six. Jessica receive the amount in installments of $9,000,000 each year for three installments and the first installment is received immediately. Given that the interest rate is 5%, calculate the present value of the lottery (Correct your answer to the nearest hundred). 
A.
$26,781,500
B.
$25,734,700
C.
$34,528,400
D.
$27,000,000
10.
A fast food restaurant in Hong Kong imports ingredients from Mainland China and the USA Training of employees is provided by a human resources manager from its headquarter in England. Its menu includes both western food and Chinese Siu Mei.


The fast food restaurant is an example of:

(1) 
multinational corporation
(2) 
global sourcing
(3)
specialisation
(4) 
cultural recognition

A.
(1), (2) and (3)
B.
(1), (2) and (4)
C.
(1), (3) and (4)

D.
(2), (3) and (4)
11.
Many Mainland corporations chose to be listed in Hong Kong. In this case, Hong Kong serves as a(an) __________ for Mainland China to _________.

A.
trading partner;
facilitate the flow of goods and services
B.
financial centre;
raise funds
C.
service centre;
conduct consultancy services
D.
entrepot;

direct flows of goods and capital
12.
Jack, Peter and Susan are doctors working in a public hospital. They are considering quitting their current jobs and together forming a private clinic instead. Which of the following forms of ownership are suitable?


(1) 
Sole Proprietorship
(2) 
General Partnership
(3)
Limited Partnership

(4)
Public Limited Company

A.
(1) and (4)
B.
(2) and (3)
C.
(2), (3) and (4)

D.
(1), (2), (3) and (4)
13.
Which of the following policies may cause violation of business ethics by employees?
A.
The absence of code of conduct for all staff to follow
B.
Providing educational and training course on business ethics

C.
Rewarding ethical practices and punishing unethical practices

D.
Emphasizing the importance of business ethics in recruitment.
14.
Which of the following double entry rules is(are) incorrect?


	
	Accounts:
	Change in the amount:
	Double entry rule:

	(1)
	Returns inwards
	Increase
	Debit

	(2)
	Carriage outwards
	Decrease
	Credit

	(3)
	Debtors
	Increase
	Credit

	(4)
	Furniture and fittings
	Decrease
	Debit


A.
(1) only
B.
(1) and (2) only
C.
(3) and (4) only

D.
(1), (3) and (4) only
15.
In hiring a new associate for the marketing department in a company, which of the following processes is irrelevant?
A.
Human resources manager posting advertisements of hiring

B.
Marketing manager outlining the required skills and job duties
C.
Operation manager reviewing hiring process
D.
Information manager providing salary level details for reference
16.
Which of the following will bring an increase in net profit when there is an increase in amount?
(1) 
Capital
(2) 
Carriage inwards
(3)
Return outwards
(4)
Discount received
A.
(4) only
B.
(1) and (4) only
C.
(3) and (4) only
D.
(2), (3) and (4) only
17.

The following is an extract of the trial balance of the ACCT Limited at the year ended 31 March 20X3:
	
	Dr
	
	Cr

	
	$
	
	$

	Purchases
	95,000
	
	

	Beginning inventory
	12,220
	
	

	Carriage inwards
	5,000
	
	

	Electricity
	105,000
	
	

	Rental and rates
	84,000
	
	

	Salaries
	60,000
	
	

	Returns
	15,050
	
	10,200

	Sales
	
	
	345,575

	Commission
	
	
	31,200

	Discount received
	
	
	2,450




Given the net profit is $23,205, find the value of closing inventory.
A.
$350
B.
$10,050
C.
$12,500
D.
$72,450




18.
Which of the following is an example of risk diversification? 
A.
Invest in preference stocks
B. 
Invest in the US treasury bills
C. 
Invest in an inflation indexed bond
D. 
Invest in a mutual fund that is composed of bonds and shares
19.
Which of the following statements about Management by Objectives are correct?


(1)
Managers provide feedback to subordinates.

(2)
Managers review the performance of subordinates regularly.

(3)
During the meeting with subordinates, managers alone set the performance objectives for the subordinates.

(4)
Managers at all levels meet with their subordinates within their department to jointly set the performance objectives.
A.
(1) and (2) only

B.
(1), (2) and (3) only

C.
(1), (2) and (4) only

D.
(1), (3) and (4) only
20.
Accounting is important for ___________________.


(1)
preparing periodic reports for assessing performance

(2)
providing financial figures for assessing salary and bonus

(3)
helping adjust company's strategy to boost revenue

(4)
presenting financial information for potential investors 

A.
(1), (2) and (3) only

B.
(1), (2) and (4) only

C.
(2), (3) and (4) only

D.
(1), (2), (3) and (4)

21.
Meicy is applying for a loan to finance her business start-up. The bank usually offers the loan with an interest rate of 8% to its customers. However, after the loan assessment process, the bank offers Meicy the loan with an interest rate of 9.5% instead. What could be the reasons for this? 

(1)
Meicy has some overdue credit card bills

(2)
The business plan is missing strategic planning in making it successful

(3)
The bank foresees the interest rate would go up

A.
(1) and (2) only

B.
(1) and (3) only

C.
(2) and (3) only

D.
(1), (2) and (3)

Based on the following information, answer Questions 22  23:

The following is extract of the balance sheet of Tin Tin Limited:
	Current Assets
	$

	Inventory
	?

	Debtors
	86,500

	Bank
	?


	Current liabilities
	$

	Creditors
	145,500

	Accrued rent
	8,000


22.
Given the Quick ratio is 0.85 : 1. The value of the bank account is _______________. 
A.
$37,175
B.
$43,975
C.
$84,676
D.
$90,088
23.
Find the value of inventory given that the current ratio is 0.9 : 1.
A.
$475
B.
$7,275
C.
$7,675
D.
$14,475
24.
Which of the following about the Hong Kong Monetary Authority (HKMA) is correct?
A.
HKMA sets the Hong Kong Inter-bank Offered Rate
B.
Octopus Cards Limited is subject to the regulations of HKMA
C.
Hong Kong Exchange and Clearing Limited is wholly owned by HKMA
D.
HKMA monitors all financial institutions in Hong Kong
25.
The rent payment has not been made but it is still charged to the profit and loss account. Which of the following statements about this situation is correct?

A.
The treatment is incorrect as the rental expense has not been paid.
B.
The treatment is incorrect as the amount of the rental expense is not determined.
C.
The treatment is correct as expense should be recorded once it is incurred instead of when it is paid.
D.
Cannot be determined as not enough information is available.
26.
Which of the following are the disadvantages of using credit cards for cardholders?

(1)
The banks charge interest on every credit card purchase

(2)
Huge loss could occur if the cards are stolen

(3)
Some small shops may not accept credit cards

A.
(1) and (2) only

B.
(1) and (3) only

C.
(2) and (3) only

D.
(1), (2) and (3)

27.
On 8 August, AA Limited purchased inventory for $45,000 less 10% trade discount on credit. The account was settled on 15 August. The value of the stock rose to $50,000 on the same date due to shortage in supply. What should be the value of the inventory being recorded? 

A.
$40,500
B. 
$45,000
C. 
$50,000
D. 
Cannot be determined as not enough information is available
28.
Under which of the following situations will Beacon Limited receive a debit note?
A.
A&E Company returns goods to Beacon Limited.
B. 
Beacon Limited returns goods to A&E Company
C. 
Beacon Limited purchases goods from A&E Company
D. 
A&E Company purchases goods from Beacon Limited.
29.
Which of the following are the characteristics of a successful entrepreneur?

(1)
willing to accept challenges

(2)
follow routine practices closely

(3)
strong desire to achieve
A.
(1) and (2) only

B.
(1) and (3) only

C.
(2) and (3) only

D.
(1), (2) and (3)

30.
Which of the following forms of communication can promote the trustfulness among people?

A.
One-way communication
B. 
Two-way communication
C. 
Lateral communication
D. 
Upward communication
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